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Question Number : 1 Question Id : 64635010798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E45350424595. 1
64535042500, 2



E4E35042501. 3
64535042502, 4

Question Number : 1 Question Id : 64635010798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350424595. 1
64535042500, 2
64535042501, 3
E453504250Z2. 4

Question Number : 2 Question Id : 64635010799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535042503, 1
64535042504, 2
E4E35042505. 3
EAE35042506. 4

Question Number : 2 Question Id : 64635010799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535042502, 1

64535042504, 2

64535042505, 3

64535042506, 4

Question Number : 3 Question Id : 64635010800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535042507, 1
4835042508, 2
4535042509 2
64535042510, 4

Question Number : 3 Question Id : 64635010800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535042507. 1
64535042508, 2
64535042509, 3
64535042510, 4

Question Number : 4 Question Id : 64635010801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35042511. 1
EAE35042512. 2
64535042513, 3
64535042514, 4

Question Number : 4 Question Id : 64635010801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535042511, 1
64535042512, 2
E4E35042513. 3
E4E35042514. 4

Question Number : 5 Question Id : 64635010802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
64535042515 1

E4E35042516. 2
E4E35042517. 3
64535042518, 4

Question Number : 5 Question Id : 64635010802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535042515, 1
64535042516, 2
64535042517, 3
E4E35042518. 4

Question Number : 6 Question Id : 64635010803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

64835042519, 1
4535042520 2
64535042521, 5
4535042522 4

Question Number : 6 Question Id : 64635010803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635042519, 1
CAsZE042520. 2
C4AE2E042521. 2
425042522 4

Question Number : 7 Question Id : 64635010804 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535042523, 1
64535042524, 2
64535042525, 3
EAE35042526. 4

Question Number : 7 Question Id : 64635010804 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =

(3)  FFAFA, T, F=am A0 Tt (4) Terari=ta, Tr=F, F== AT =E

Options:

64535042523, 1
E4E35042524 2
64535042525, 5
4535042526, 4

Question Number : 8 Question Id : 64635010805 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535042527, 1
64535042528, 2

: No Display Question Number :

Yes

Yes

Yes



EAE35042529. 3
64535042530, 4

Question Number : 8 Question Id : 64635010805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635042527, 1

64635042528, 2

£4635042529. 3

£4835042530. 4

Question Number : 9 Question Id : 64635010806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

6453504252101

64AE35042522 2

64535042533, 3

64535042534, 4

Question Number : 9 Question Id : 64635010806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835042531, 1
4535042532 2
64535042522 o
64535042534 4

Question Number : 10 Question Id : 64635010807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350425351

64535042526, 2

G4E35042527. 2

64535042538, 4

Question Number : 10 Question Id : 64635010807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T TEFA AT TG T T Tehe SRR 0§ Fhe T B I6 I T T o+
THF 1 g 27
(1) 09 TIERET 1 TR o S
(2) G TEET W FAEHR F
(3) g TR WS v T S
(4) g T § HER F0T|
Options:
64635042535, 1
E4E835042536. 2
64535042537, 5
64535042528, 4

Sub-Section Number : 2
Sub-Section I1d: 646350513
Question Shuffling Allowed : Yes

Question Id : 64635010808 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635010809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635042539 1

64535042540, 2

64635042541, 3

64535042542, 4

Question Number : 12 Question Id : 64635010810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535042542, 1
64535042544, 2
E4E35042545, 3
EAE35042546. 4

Question Number : 13 Question Id : 64635010811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35042547. 1



EAE35042548. 2
64535042545, 3
64535042550, 4

Question Number : 14 Question Id : 64635010812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525042551. 1
E4535042552 2
645350425535 2
64535042554 4

Question Number : 15 Question Id : 64635010813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535042555, 1

64535042556, 2

64535042557, 3

64535042558, 4

Question Id : 64635010808 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635010809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
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Options:

64835042539, 1
4535042540 2
64535042541, 5
64535042542 4

Question Number : 12 Question Id : 64635010810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535042543, 1
64535042544, 2
64535042545, 3
EAE3504254E. 4

Question Number : 13 Question Id : 64635010811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35042547. 1
E4E35042548. 2
64535042545, 3
64535042550, 4

Question Number : 14 Question Id : 64635010812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =HE TR T F9 F0H
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Options:
46350425511
64535042552, 2

E4535042553. 3
E4535042554. 4

Question Number : 15 Question Id : 64635010813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4035042555 1
64635042556 2
64635042557 3
64535042555 4

Sub-Section Number: 3
Sub-Section 1d: 646350514
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635010814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
45250425559 1

E4E35042560. 2
E4E35042561. 3
BAE35042562. 4

Question Number : 16 Question Id : 64635010814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835042559, 1
4535042560, 2
64535042561, 5
4535042562, 4

Question Number : 17 Question Id : 64635010815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535042563, 1
4835042564 2
4535042565 =2
4535042566, 4

Question Number : 17 Question Id : 64635010815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535042563, 1
64535042564, 2
E4E35042565. 3
EAE35042566. 4

Question Number : 18 Question Id : 64635010816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25042567. 1
EAB25042568. 2
E4535042569. 2
64535042570 4

Question Number : 18 Question Id : 64635010816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835042567, 1
64535042568, 2
64535042569, o
64535042570 4

Question Number : 19 Question Id : 64635010817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4E35042571. 1
6435042572 2
64535042573, 3
64535042574, 4

Question Number : 19 Question Id : 64635010817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g
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Options:

64535042571, 1
EAEZ5042572. 2
EAE35042573. 3
64535042574, 4

Question Number : 20 Question Id : 64635010818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



EAE35042575. 1
64535042576, 2
BAE35042577. 3
64535042578, 4

Question Number : 20 Question Id : 64635010818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) AT, ANTEFA, T, B

(4) 4, TH, TEATEA, TIEED
Options:
64635042575, 1
6435042576, 2
64535042577, 5
4535042578, 4

Question Number : 21 Question Id : 64635010819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

64535042575, 1
64535042580, 2
64535042581, 3
EAE35042582. 4

Question Number : 21 Question Id : 64635010819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

64535042579, 1
64535042580, 2
64535042581, 3
EAE35042582. 4



Question Number : 22 Question Id : 64635010820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

EAE35042583. 1
E4E35042584. 2
64535042585, 3
64535042586, 4

Question Number : 22 Question Id : 64635010820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

EAE35042583. 1
E4E35042584. 2
64535042585, 3
64535042586, 4

Question Number : 23 Question Id : 64635010821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535042587, 1
64535042588, 2
E4E35042589. 3
E4E35042530. 4

Question Number : 23 Question Id : 64635010821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535042587, 1
64535042588, 2
64535042589, 3
E4E35042530. 4

Question Number : 24 Question Id : 64635010822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350425591, 1
645350425392, 2
64535042533, 3
E4E35042554. 4

Question Number : 24 Question Id : 64635010822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535042591, 1
645350425392, 2
E4E350425593. 3
E4E35042594. 4

Question Number : 25 Question Id : 64635010823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

64535042555, 1



EAE35042596. 2
64535042557, 3
64535042558, 4

Question Number : 25 Question Id : 64635010823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535042595, 1
645350425396, 2
E4E350425397. 3
E4E350425398. 4

Question Number : 26 Question Id : 64635010824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35042599. 1
E4E35042600. 2
645350426801, 3
64535042602, 4

Question Number : 26 Question Id : 64635010824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4535042599. 1
645350426800, 2
64535042601, 3
E453504260Z2. 4

Question Number : 27 Question Id : 64635010825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35042603. 1
E4E35042604. 2
645350426805, 3
64535042606, 4

Question Number : 27 Question Id : 64635010825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35042603. 1
E4E35042604. 2
E4535042605. 3
645350426806, 4

Question Number : 28 Question Id : 64635010826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535042607, 1
64535042608, 2
64535042609, 3
EAEZ5042610. 4

Question Number : 28 Question Id : 64635010826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535042607, 1
E4E35042608. 2



E4E35042608. 3
G4E35042610. 4

Question Number : 29 Question Id : 64635010827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35042611. 1
EAE35042612. 2
E4E35042613. 3
64535042614, 4

Question Number : 29 Question Id : 64635010827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
64635042611, 1
4635042612 2

645350426813, 3
64535042614, 4

Question Number : 30 Question Id : 64635010828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535042615. 1
645350426816, 2
64535042617, 3
645350426158, 4



Question Number : 30 Question Id : 64635010828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4E35042615. 1
E4E35042616. 2
645350426817, 3
645350426158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350515
Question Shuffling Allowed : Yes

Question Id : 64635010829 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635010830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35042613. 1
EAE35042620. 2
64535042621, 3
E4535042622. 4



Question Number : 32 Question Id : 64635010831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

EAE35042623. 1
EAE35042624. 2
645350426825, 3
4535042626, 4

Question Number : 33 Question Id : 64635010832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535042627, 1
64535042628, 2
64535042629, 3
EAE35042630. 4

Question Number : 34 Question Id : 64635010833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535042631, 1
64535042632, 2
EAE35042633. 3
EAE35042634. 4

Question Number : 35 Question Id : 64635010834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35042635. 1



EAE35042636. 2
EAE3504Z2637. 3
64535042638, 4

Question Id : 64635010829 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635010830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4E35042619. 1
645350426820, 2
64535042621, 3
E4E35042622. 4

Question Number : 32 Question Id : 64635010831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535042623, 1
645350426824, 2
64535042625, 3
E4E3504262E. 4



Question Number : 33 Question Id : 64635010832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535042627, 1
E4535042628. 2
EAE35042629. 3
EAE35042630. 4

Question Number : 34 Question Id : 64635010833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35042631. 1
EAE35042632. 2
64535042633, 3
64535042634, 4

Question Number : 35 Question Id : 64635010834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535042635, 1
EAEZ5042636. 2
EAE35042637. 3
E4535042638. 4

Sub-Section Number: 5
Sub-Section Id: 646350516
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635010835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

4535042639, 1
64535042640 2
64535042641, =
64535042542 4

Question Number : 36 Question Id : 64635010835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350426359. 1

64535042640 2

64635042641 2

EAB35042642 4

Question Number : 37 Question Id : 64635010836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535042643, 1
64535042644, 2
64535042645, 3
EAE3504264E, 4

Question Number : 37 Question Id : 64635010836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535042643, 1
64535042644, 2
64535042645, 3
EAE3504264E, 4

Question Number : 38 Question Id : 64635010837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535042647 1

646350426458 2

64835042649 2

E4E25042650. 4

Question Number : 38 Question Id : 64635010837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35042647. 1
64535042648, 2
64535042649, 3
64535042650, 4

Question Number : 39 Question Id : 64635010838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35042651. 1
EAE35042652. 2



EAE35042653. 3
64535042654, 4

Question Number : 39 Question Id : 64635010838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535042651, 1
64535042652, 2
E4E35042653. 3
EAE35042654. 4

Question Number : 40 Question Id : 64635010839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35042655. 1
E4E35042656. 2
645350426857, 3
64535042658, 4

Question Number : 40 Question Id : 64635010839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535042655. 1
64535042656, 2
64535042657, 3
64535042658, 4

Question Number : 41 Question Id : 64635010840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4E535042659. 1
645350426860, 2
64535042661, 3
E4535042662. 4

Question Number : 41 Question Id : 64635010840 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535042659, 1
64535042660, 2
E4E3504266]1. 3
EAE35042662. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635010841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535042662, 1
E4E35042664. 2
EAE35042665. 3
BAE3504Z866. 4

Question Number : 42 Question Id : 64635010841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

64535042663, 1
64535042664, 2
64535042665, 3
EAE3504Z66E. 4



Question Number : 43 Question Id : 64635010842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535042667, 1
64535042668, 2
64535042669, 3
EAEZ5042670. 4

Question Number : 43 Question Id : 64635010842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535042667, 1
64535042668, 2
E4E35042669. 3
EAE35042670. 4

Question Number : 44 Question Id : 64635010843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535042671, 1
E4E35042672. 2
EAEZ504267 3. 3
BAE35042674. 4

Question Number : 44 Question Id : 64635010843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535042671, 1
64535042672, 2
EAE35042673. 3



EAE35042674. 4

Question Number : 45 Question Id : 64635010844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535042675, 1
64535042676, 2
E4E35042877. 2
E4E35042878. 4

Question Number : 45 Question Id : 64635010844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635042675, 1
64635042676, 2
64635042677, 3
64635042678, 4

Question Number : 46 Question Id : 64635010845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

645350426749, 1
64535042680, 2
E4E35042681. 3
EAE35042682. 4

Question Number : 46 Question Id : 64635010845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E35042675. 1
64535042680, 2
64535042681, 3
64535042682, 4

Question Number : 47 Question Id : 64635010846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4E25042685. 1

64535042654 2

64535042685 3

64835042686, 4

Question Number : 47 Question Id : 64635010846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
64835042683, 1
E4E35042654, 2

E4E35042685. 3
EAE35042686. 4

Question Number : 48 Question Id : 64635010847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35042687. 1
645350426888, 2



EAE35042689. 3
64535042630, 4

Question Number : 48 Question Id : 64635010847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535042687, 1
64535042688, 2
E4E35042689. 3
EAE35042630. 4

Question Number : 49 Question Id : 64635010848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825042691. 1

EAB25042692 2

E45350426593. 3

645350426594 4

Question Number : 49 Question Id : 64635010848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635042691, 1
64635042692, 2

EAE350426393. 3
E4E350426594. 4

Question Number : 50 Question Id : 64635010849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E45350426595. 1
645350426356, 2
645350426857, 3
64535042638, 4

Question Number : 50 Question Id : 64635010849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535042655, 1
64535042636, 2
64535042637, 3
E4E350426395. 4

FPART II Forensic Sciernce

Section Id : 646350296
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350517
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635010850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which drug is used in camrving out ‘narco analvsis'?
1. Sodium narcol
2. Sodium amylate
3. Sedium pentothal
4. Amphetamine

Options:

64835042699, 1
4535042700, 2
64535042701, 5
4535042702, 4

Question Number : 51 Question Id : 64635010850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘AT fawrr # w41 sl o e &2
1.  wiismaa
2. wifETHUEEeE
3. dftgmdcem
4. TR
Options:

645350426595, 1
64535042700, 2
64535042701, 3
EAEZ5042702. 4

Question Number : 52 Question Id : 64635010851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following phvsiclogical parameters is WOT assessed in polvgraph testing?
1. Blood pressure
2.  Lung air volume
3.  Pulserate

4, Skin conductivity

Options:

64535042703, 1
64535042704, 2
64535042705, 2
4835042706, 4

Question Number : 52 Question Id : 64635010851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



diftre wdtam & Profafas & & frg sdcfromes mods = qeate il e s &7
1. T==HENM
2. TSl F WA S AE

3. UBEA-TL
4 wEEHEEA
Options:

E4E35042703. 1
E4E35042704. 2
64535042705, 3
64535042706, 4

Question Number : 53 Question Id : 64635010852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following filters are useful for photography on a shining surface?

l. Infrared

2. Polarising

3. Red

4 EBlue
Options:

64535042707, 1
E4E35042708. 2
E4E35042708. 3
64535042710, 4

Question Number : 53 Question Id : 64635010852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Proifes # & - v fadt 99eer o098 W T &1 F o gonft &7

1. EdE

2. ydipa

T 1[4

4. e
Options:

E4E35042707. 1
E4E35042708. 2
64535042705, 3
64535042710, 4

Question Number : 54 Question Id : 64635010853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Opinion of examiner of electronic evidence 15 admissible in a court of law under which
of the following sections?

1 5-44, Information Technology Act, 2000
2. 545 Indian Evidence Act
3. 5-45A, Indian Evidence Act

4. 5-34, Information Technology Act, 2000
Options:
64535042711, 1
E4E25042712 2
E4E25042713 3
64535042714 4

Question Number : 54 Question Id : 64635010853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frafafam #4 fow um F savs e e d wiwite ma S vias sron ded &7

1. gERvEfet sfufmm 2000 F U 44
1 MG as siEHaa St 9w 45
3. e Tien sfafon =t ar 45a

4. gt afefras 2000 S se
Options:
645350427111
64535042712 2
64535042713 2
G4AE35042714. 4

Question Number : 55 Question Id : 64635010854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Sections of the Indian Evidence Act, 1872 describes “Dwing
Declaration™?

1. Section 45
2. Section 47
3.  Section 59
4.  Section 32

Options:

64535042715, 1
64535042716 2
E4E35042717. 2
4535042718 4

Question Number : 55 Question Id : 64635010854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



W e sifefram 1872 91 fvw v 9 1 & o Ry soe &6t aren &1 8

1. w145

2. umI 47

3. HT 39

4. HWT 32
Options:
64535042715, 1
64535042716 2
64535042717, 2
64535042718, 4

Question Number : 56 Question Id : 64635010855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Armrange the following in a comect sequence :

{a) Careful collection of evidence

(b) Deciding the search pattem

{e) Preservation and packaging the evidence

(d) Preservation and protecting the scene
Select the correct option

1. ), () (). (@)

2. (b) (a). (d). (e)

3 (d). () () (©

4. () @) (d). ()

Options:

64535042719, 1
64535042720, 2
64535042721, 2
E4E35042722. 4

Question Number : 56 Question Id : 64635010855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fraftian i wé w0 el #if -
(a) Wea o S dEm
(b) & fiRE i Fuifa s
() &Y B IR ST Yt
(d) e 1 aieea ST Team
el R g
L (d), () (c) (2
2 () (@) (d). (0
3. (d) (b) (2) (2)

4. (b), (a). (d). ()

Options:

64535042719, 1
64535042720, 2
4835042721, 2
E4E35042722. 4

Question Number : 57 Question Id : 64635010856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The tasks of first responding officer at crime scene are the following -

(a) Medical assistance to the victim
(b) Apprehension of the suspect from the scene or in the vicinity
(c) Protection of the crime scene
(d) Collection of evidence from crime scene
Inthe context of the above, choose the comrect combination :
1.  Only (a) and (b) are correct
2. Onlv (b) and (d) are correct
3. Only (a), (b) and (c) are comect

4. Only (a), {c) and (d) are comect

Options:

64535042723, 1
64535042724 2
64535042725 2
64535042726, 4

Question Number : 57 Question Id : 64635010856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SO T W wuE s sfved  afEm e £
@ @ = Rfeaeg gema
(b)  STURTY-RIT °1 A9 & & J wiemw aufea &1 st sifimen & o
(€) 3TRIY-TUT F TR
(d) HUY-TUT H WE-FIRW
e & ded H = wde g -
1. ¥ () R b) T E
2. Faw (b) SR () WE §
3. H (), () AR (o) T E
4. (), (c) W (d) TAE
Options:
B4635042723. 1
B4635042724. 2

64535042725, 3
64535042726, 4

Question Number : 58 Question Id : 64635010857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List=] with List=II

List—I List—I1

(a) Criminalistics (i) Application of forensic science to
criminal matters

() Physical evidence (i) A process which ensures the
quality of a laboratory or facility

(c) Comoborative evidence (iii) Ewvidence consisting of tangible
materials

(d) Accreditation (iv)  Ewvidence supporting testimonials
or other physical evidence

Choose the correct option from those given below :
L (@) (b)) (e)iv), (d)i)
2. a0y, (0D (o)), (i)
3. (@A) () (eHiv), (dHi)
4. (@) )y-Gv) ()i (d-0

Options:

64535042727, 1
64535042728, 2
E4E35042729. 2
64535042720, 4

Question Number : 58 Question Id : 64635010857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 3 -1 & gt S

-1 -1

@ omoy-gfvs fefmffes @ arooifts oot & ofty orefos
o =1 s

®) shfos weg (i) U v, S srmeren o gfa
=t o e st &

(c) gt wnem (i) T St T e

(d) weraE (iv) v T 3 i e S O
FH G HWEg

feu o oen © & 98t 99 909 Sifag

Lo (ap(id); () (e)-iv); (d-(D)
2 (aAi): (e)Hiv); (e)(ii); (d)-Gi)
300 (i) i) (-Gv); (d)-Gi)
4. (apGi; ®Av); (- (d)-E)

Options:

E4E35042727. 1

E4E35042728. 2

64535042729, 5

64535042730, 4

Question Number : 59 Question Id : 64635010858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Statement 1 (51): It is not necessary to collect comtrel samples from every crime
scene,

Statement 2 (S;):  Control sample determines whether the material has an impaet on
the interpretation of laboratory results

In the context of two statements, which one of the following is comrect?

1. Both5;and 5; are true and 5: is the comrect explanation of 5
2 Both 5 and 57 are true, but 5715 not the correct explanation of §;
3. 5pis true but 5; is false
4 5y is false but S;is true

Options:

E4E825042721. 1

EABZ5042732 2

E4535042733 3

64535042734 4

Question Number : 59 Question Id : 64635010858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FUE1(S)):  VeE Jy-wE § i viresl = dug S aaws 76 gl

FUT 2 (Sy) - P wiereel o fuffa s 2 f el &1 v & ofomd o miE
g1 E T

7 g1 Byl & e F e d e sma wd &

1. S ARS;THITREARS,, 5 F e S B

2. S RS EETES § A Sy, ) @ wE e A g
A E L RS R Gl
4. S TomE AfEES, W R

wd



Options:

64535042731, 1
4835042732 2
45350427332 2
64535042724, 4

Question Number : 60 Question Id : 64635010859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement 1 (51): Principle of analvsis of foremsic science emphasises on comect
sampling.

Statement 2 (51):  The objects lying on the crime scene alwavs depict its story
In the context of two statements, which one of the following is comrect?

1. Both 5)and §; are true and S; is the correct explanation of §;

2. Both 5; and 5; are true, but 5; is not the correct explanation of §;

3. 5jpis true but 5; is false

4.  5pis false but 5:is true

Options:

4635042735, 1
64535042736, 2
64535042737, 2
64535042735, 4

Question Number : 60 Question Id : 64635010859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T 1(Sy) :  mmaaits R o frgit ef e mea Em R

BYF2(Sy) : WY W UL Tl 39 FEl 3 5l FE 2
o FA sl AP Adsna
1. S RS dHTEf ¥ s, s, Fodaren d
2. 5 3RS, ST EE E o 5y, 5 B HEl e T 2
3. swEEdeAs, TEd
4 S TEEAFEAS: TR

Options:

648350427351
E4E35042736. 2
64535042737, o
64535042738, 4

Question Number : 61 Question Id : 64635010860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Statement 1 (51): Luminol test is a confirmatory test for detection of blood.

Statement 2 (5:): Luminol added together with H20: (hvdrogen peroxide) becomes
luminescent in the presence of haemoglobin.

In the context of two statements, which ene of the following is correct?
1. BothS; and 5; are true and 57 is the correct explanation of 5
2. Both 51 and $; are true, but 31 is not the comect explanation of 51
3. Spis false but Sz2is true
4. Both5;and 5; are false

Options:

64535042739, 1
E4E35042740. 2
64535042741, 5
4535042742 4

Question Number : 61 Question Id : 64635010860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HUF 1 (Sy):  TEETE Ftam Y &1 Oa T & i o gftes Tl

FF2(S:): TE i # H.0: EESaA Risass) & I fimmm om0 & & a8
1 ufRyfy & ueree= 8 & 8

5 o U & wed | FaftiEa § 9 o w8 &

1. 5 %S;ﬁ?’fﬂﬁ%ﬂﬁ?ﬁ;,slﬂﬁﬁﬁm%

2

81 R S, SR HE & AfFa Sy, S, # wE e T 8
3. S TOaE afEa s, g

4. SRS FATTEEE
Options:
64535042739, 1
64535042740 2
64535042741 3
64535042742 4

Question Number : 62 Question Id : 64635010861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



March List—I with List—II :

List=I List=II
(WName of DNA locus) (Chromosome number)
(a) FGA @ 2
) TPOX i 4
() VWa ) 11
(d) THOI i) 12

Choose the comrect option from those given below :

Lo (aHi) (b)), (e)-(iv); (d)i)

[

(a-{v); (b)) (), (i)

(i), (b)) (e)(iv) (d)ii)

Lad

4. (apGi) (o)iv) (e)-@) (d)Gi)
Options:
64535042743 1
64535042744 2
64535042745 2
GAR35042746. 4

Question Number : 62 Question Id : 64635010861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i1 1 g1 & gl =i -
-1 -1
(3. 7. ©. T &1 A (T )
(a) TF.E.T @ 2
(b) & 3 @ 4
() WTHYT (i) 11
@ #7301 @) 12
fem Mo fasrew # 9 HEl I 904 Fifd

1. (a)i) ()Gu); (e-v); (i)
2. (@) bG); (o)-Gi); (d)-Gii)
3. (@) (b)) (e)-(v); (d)-(ii)
4. (apii); (b)-Gv); (e-): (d)-Gi)

Options:

64535042743 1

64535042744 2

64535042745 =

64535042746, 4

Question Number : 63 Question Id : 64635010862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Statement 1 (51): A child with bleod group O can never have biological parents with
blood groups A and B.

Statement 2 (5:): No child can have a blood group allele which is not present in
either of the biological parents.

In the context of two statements, which one of the following is correct?

1. BothS;and S; are true and Sz is the correct explanation of 51

(]

Both 51 and Sz are true, but S3 is not the comrect explanation of 5y
3. 5pis true but 5; is false
4. 5pi1s false but S; s true
Options:

645350427471
64G35042748 2
64535042749, 3

EAE35042750. 4

Question Number : 63 Question Id : 64635010862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FUT1(S): O TF0-TF I8 &= & ofte ma-fm s st A s B oo S T |
TFd |

FUH 2 (Sy): 5 o= 71 9 0-wp gwe # TE § vea 9t 96 wive A-fum §
¥ foreit ues A g A B
Fal e s ded A FetfEn d9sn-a il &7
1. S RS, FIAH T IR Sy, 5y P AR §
2. 5 S, T HEIE AR Sy, Sy B W WAL B
3 S, W@ EEAs, TaE
4 5 TOAE A S WE R
Options:
4535042747 1
64635042745, 2
4635042749 3
64635042750 4

Question Number : 64 Question Id : 64635010863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Statement 1 (S1): Bovine Serum Albumin (B5A) is added to PCR mixture to reduce
the effect of PCR inhibitors.

Statement 2 (5:): BSA acts as a binding site for PCR inhibitors.
In the context of two statements, which one of the following is comrect?
1.  Both §; and 3; are true and 5; is the comect explanation of 51
2. Both 51 and S: are true, but 52 1s not the comrect explanation of 5;
3. 5pis mue but S; is false
4. Both 5; and 5; are false

Options:
64835042751, 1
4535042752 2

E4E35042753. 3



EAE35042754. 4

Question Number : 64 Question Id : 64635010863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FUA 1 (%) : o F 9. dEnsl § UHE & 9eH & i, 9. s e § Fese 5
sregfee (& . v fivema wmn &1

FUT2(Sy) : W o dewel & f &, o, v Hoe e w1 1 S B
7 gt FuAl & s A Feftfaa s m adt 27

1. 8 3RS, WA E M S, S, FwH AR @

2. Sy 3RS, g1 WE g A 5., S, B W T AE &

3. S, W A S, e B

4. S MRS, SHITEE
Options:
64535042751, 1
4835042752 2
4535042753 2
64535042754, 4

Question Number : 65 Question Id : 64635010864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List-1 List—II
(a) RFLP ] Heteraplasmy
) STR @)  Southem blotting
(c) mt-DNA {iti)  Patemal lineage marker
d) Y-5TR {iv)  Multiplexing

Choose the correct option from those given below :
1. (ariv); (bE) (i), (d)-(ii)
2. () ®HG; (eFGv); (d)-GE)
3. (a)Gix @)Gv): (HG): (d)-Gii)
4 (@Hii); ) (v (dHD
Options:
64635042755 1
64535042756 2
E4B25042757. 3
EAE25042758. 4

Question Number : 65 Question Id : 64635010864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et @ g1 & e i

-1 =11
(a) SR % (i) e
) TE& R i) TE e
(© WmA-FHwu (i) Yem fafde arebe
(d) TE-TE.E IR (iv) TeeTEeET
fem 7o Rees 4 9 T8 IR 999 S

Lo (av) (o) (e (d)(ii)

()

(G (o) (eiv) (d)-i)
3. () (e=av): (e)=a); (d)=(iii)

4. fap(); (b)=(); (cr=(iv); (d)={i)
Options:
64535042755, 1
E4E35042756. 2
E4E35042757. 2
64535042758, 4

Question Number : 66 Question Id : 64635010865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List—T with List-II :

List-1 List—I1
(Product) (Species of orgin)
(a) Shahtoosh 1) Chvvetolagus cuniculus
(b} Pashmina (ii) Fantholopes hodgsonii
(c) Angora (i) Capra hircus
(d) Cotton (v)  Gossypium hirsutum

Choose the correct aption from those given below :
1 @rv): (o) (e)-Gi); (d)(ii)
2. (i M)l (e)-Gv); ()
30 (e, ()G (e-G); (d-iv)
4. (@), )i (@) (d-iv)

Options:

64835042759, 1
E4E350427E0. 2
64535042761, o
4535042762, 4

Question Number : 66 Question Id : 64635010865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 % gefi-11 & g Fif -

-1 -1
(FTE) (%1 sramfera)
(2) EqW 0 it agheges
(b) o=t (i) Do e
(c) ST i) FWRFT
(d) FUH (v) T Eed
fan o faweg & 9§ o oo 9o= Sifew

L (aHiv) ®)HiE) ()i (di(ii)
2. (@ (od); (e)iv); (d)-()
300 (apGu) (b (G (d-iv)
4. (apii): (b)) (e (div)

Options:

C4E25042759 1

CAEZEEQ4AZ7E0, 2

64535042761, 3
EAE35042762. 4

Question Number : 67 Question Id : 64635010866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The correct order of steps invalved in polymerase chain reaction is

1. annealing, denaturation, elongation
2. denaruration elongatien, annealing
3.  elongation, denaturation, annealing
4. denaruration, annealing, elongation

Options:

4635042763, 1
64535042764, 2
64535042765 =
64535042766, 4

Question Number : 67 Question Id : 64635010866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ulditwg o= frosem & mfim 9wl & 98 snww 27

1. fiEe, e v
2. e weles, sfimme
3. e, e sfimmE

4. T afimmes, wefes
Options:
4835042763, 1
E4E350427E4. 2
64535042765, o



EAE35042766. 4

Question Number : 68 Question Id : 64635010867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Schreger lines are used for the identification of

1. rhino hom

2. Ivory

3 antlers

4. pangolin scales
Options:
E4E235042767. 1
64535042768, 2
64635042769 3
64535042770, 4

Question Number : 68 Question Id : 64635010867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i it = o Pnifee € freft mem S Rtm fem e 7

1. TEerdm

2. mdei

3.0 &

4, OifeE o
Options:

EAE35042767. 1
EAE35042768. 2
645350427645, 3
64535042770, 4

Question Number : 69 Question Id : 64635010868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The length of Amelogenin locus in X-chromosome is

1, 106bp

ot

110 bp
3. 112bp

4. 1ll4bp
Options:
64535042771,
64535042772,
E4E3504277 3.
4835042774,

[ Y

Question Number : 69 Question Id : 64635010868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



X-FHEm # v v 1 vars fee gl 82

1. 10644

2. no#ELd

3. 124

4 NM4ELW
Options:

645350427711
64535042772 2
EAE35042773. 3
EAE35042774. 4

Question Number : 70 Question Id : 64635010869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The plant protected under the Wildlife (Protection) Act is

1. Sgussurea costus
2. Papaver somniferum
AL Shorea robusta

4. Tectona grandis
Options:
435042775 1
E4E25042776, 2
EAB25042777. 3
64535042775 4

Question Number : 70 Question Id : 64635010869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
aeaita (Eee) sifufam & st e diar 2

1. &g aied

2 qER SEeH

3. mRrEer

4. mMAET
Options:

645350427751
64535042776, 2
64535042777, 3
64535042775, 4

Question Number : 71 Question Id : 64635010870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



India became signatory to Convention on International Trade in Endangered Species

(CITES) in the vear

1. 1960
2 1970
3 1976
4, 1986
Options:

E4E350427739. 1
64535042780, 2
64535042781, 3
64535042782, 4

Question Number : 71 Question Id : 64635010870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fereeramn waferdt 1 steigin @R Hédt ofiemmm @l s A S ) Ry A fem o

pEneR fesan?
1. 1960
2. 1970
3. 1976
4 1986
Options:

645350427739, 1
64535042780, 2
E4E35042781. 3
EAE35042782. 4

Question Number : 72 Question Id : 64635010871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The possible Multi Enzvme Svstem (MES) among the following is

1.  PGM ESD,GLO
2. PGM, ADA,GLO
3. PGM, AK,GLO

4. ESD ADA AK
Options:
64535042782 1
G4AE35042754. 2
64535042785, 3
645350427586, 4

Question Number : 72 Question Id : 64635010871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fraffen 4 2 - Huren =g Somge wordt (e, € vy 2
1. d9sfton € o A foom o
2. di.oft. oA w 31 g, it g Ei.
3, UL EuH U, @ Al
4 s LI TLE

Options:

64535042783, 1
4835042734 2
4535042785 2
64535042756, 4

Question Number : 73 Question Id : 64635010872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The regions in mi-DNA used for species identification is

1. HVI]
2. HV2
3. C}'t. b
4. D-loop
Options:

E4E35042787. 1
64535042788, 2
64535042759, 3
64535042730, 4

Question Number : 73 Question Id : 64635010872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
W @ UpEE & o1 A, 21.-21. UL U F S 91 A W H S 82

1. HV1
2. HV2
3. Cwb
4 D-loop
Options:

64535042787, 1
64535042788, 2
EAE35042789. 3
EAE35042730. 4

Question Number : 74 Question Id : 64635010873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Beatle larva is known as

1. grub
2.  maggot
3. navmph

4. caterpillar
Options:
64635042791 1
64535042732 2
E45250427935. 3
E4E25042794 4

Question Number : 74 Question Id : 64635010873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A al &1 e =0 # F w87
1. #=
2. #fe
3.
4 R
Options:

645350427391, 1
64535042732 2
64535042733, 3
EAE35042734. 4

Question Number : 75 Question Id : 64635010874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The wound made by a surgeon 15 known as
1. incised wound
2. latrogenic wound
3. offensive wound

4.  defence wound
Options:
E4525042735. 1
EAE250427396. 2
64535042797 3
646350427395 4

Question Number : 75 Question Id : 64635010874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



u% ven-Tafees g fan man wm s seem 27
1. feswm
2. faiews-aiaae
3. METEE O

4. TS UG
Options:
64535042795, 1
E4E350427396. 2
4535042797, 2
64535042798, 4

Question Number : 76 Question Id : 64635010875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following pairs is NOT matched comrectly?

1.  Algormentis : Cooling ofbody

2. Purri mortis : Putrifaction of body

3. PRigormortis : Stiffening of body

4. Liver mertis : Bluish discolaration of body
Options:

645350427595, 1
64535042800, 2
64535042801, 3
E4E3504280Z. 4

Question Number : 76 Question Id : 64635010875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ProfiRa § 3 2.1 g wd gifv Tl &7

. UeREHfw : FuRE-uyg S v
2. geafty - P sieas
3. wmmAfdw - FyEw sifte seea

4 wEmAERE - FuEor st o g
Options:
64535042799, 1
64535042800, 2
64535042801, 2
E4E35042802. 4

Question Number : 77 Question Id : 64635010876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Multiplication factor for stature from femur 15

1. 36
2. 44
3. 58
4, 64
Options:

64535042803, 1
64535042804, 2
64535042805, 3
EAE35042806. 4

Question Number : 77 Question Id : 64635010876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TE R dTc s e eRs &

1. 3:6
2 44
3. 58
4 64
Options:

E4535042803. 1
64535042804, 2
64535042805, 3
64535042806, 4

Question Number : 78 Question Id : 64635010877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Cribra orbitalia (a fine porosity visible on the ceiling of the orbit) is a sign of

1. syphilis
2 anemia
3. renal stone

4 blindness
Options:
E4E35042507. 1
64535042808, 2
64535042809, =
64535042810, 4

Question Number : 78 Question Id : 64635010877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



fomn iR (sifa & 73 &t ool wag W feard 27 ot g fom) Froifea 43 fram

A 7
1. fhwfes
2. TEredd
3. TESim
4. fydr
Options:

64535042807, 1
64535042808, 2
E4E35042808. 3
EAE35042810. 4

Question Number : 79 Question Id : 64635010878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The sequence of eruption of permanent teeth in human 15

1. 1*incisor, 1" molar, 2 molar, canine

2. 1** molar, 2%¢ molar, canine, 3*4 molar

3, 1*incisor, 2 incisor, 1" molar, 2 molar

4. 1**molar, 2* incisor, canine, 2™ molar
Options:

645350425811, 1
64535042812, 2
E4E35042813. 3
EAE35042814. 4

Question Number : 79 Question Id : 64635010878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ara § ®idi S9-9RE F1 SgFE T

1. WA Faw, WuH 940, Rda w@due, weae
2. e, it T, e, et e
3. WA Fae, R o, wm Teue, firdte Tdue
4. WUH U, R dae, e, [Gaid gdue

Options:

646350425811, 1
64535042812 2
64535042813 =
64535042514 4

Question Number : 80 Question Id : 64635010879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¥ lays sticks and vurf over a pit, with the intention of causing death, "Z’ believing the
ground to be firm treads on it, falls and dies. The ciime committed by "Y' 15

1.  abetment tosuicide
2. deathby rash and negligent act
3. culpable homicide amounting to murder

4. culpable homicide not amounting to murder

Options:

648350425815, 1
4535042816, 2
64535042817, o
64535042818, 4

Question Number : 80 Question Id : 64635010879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y’ fdlt =i A @ 50E 9 U g § asisal AN UE-FE WY 21 °Z7 OF B wHe
Y P I8 W IO & MR g AR S woama #1 Y g e g @

1. R ¥ g S

2. TN S syl e g e @ A s
3. MY ARG 9y 1 5 & TR ©

4. R WA A O B ERged TEI

Options:

64535042515, 1
64535042816, 2
4835042817, 2
64535042515, 4

Question Number : 81 Question Id : 64635010880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For determination of stature which of the following formulae/rules can be utilized?
(a) Dupertuis and Hadden formula
(b} Trotter and Gleser formula
(¢} Widmark formula
{d) Pearson formula
Choose the correct option from those given below !
L (@), () (d)
2. () (o) (d)
3 (@ (e (d)
4. (). (o) (c)

Options:
64535042519, 1
64535042820 2



E4E35042821. 3
BAE35042822. 4

Question Number : 81 Question Id : 64635010880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e & HAUNU & ey Fgifea & & e a/fam = wi o @ gea 27

(a) TACH ARTET T
(b) Eiex 3R TR
() fasws @

(d) forRgE

wé Rwe gL

L (@ 0).@

2 b)) (d)

3. (2 (). (d)

4 (2. ) ()

Options:

645350425819, 1
64535042820, 2
64535042821, =
4835042822 4

Question Number : 82 Question Id : 64635010881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Determination of species origin of a bone is done by
(a) comparative anatomy
(b) microscopy
{c) precipitin test
(d) phosphorescence
Choose the correct option from those given below @

1. (a), (b) and (c) only

b

(b) and (c) only

(a) and (c) only

[

4, {a), () and (d) only

Options:
435042523 1

EdE35042824. 2
E4E35042825. 3
EAE35042826. 4



Question Number : 82 Question Id : 64635010881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et aifer & iy oot a1 srerean Fvgtfies 3 9 fords g Fowan e 2

{a) TS TRIE-TaAT
() Feafiie

(c) iR e

(d) WIERTET

wéi e g

1. 9 (@), (b) 3R (<)
2. &9 (b) ¥R (o)

3. O (a) IR (o)

4 FT(a), () AT (d)

Options:

645350425823, 1
E4E35042824. 2
4535042825 2
64535042526, 4

Question Number : 83 Question Id : 64635010882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—] with List=II :

List-1 List-II
(Bone) (Parameter/Character)
(a) Female mandible (i) Parietal eminences are larger
(b) Male mandible )  Angles inverted
(c) Female skull {iii) Chilotic index > 100
(d) Male pelvis {iv)  Frontal sinuses are more developed

(v}  Symphysis menti is square
Choose the correct option from those given below :
Lo i), (o)=v); (=0 (d)-(v)
2. (aHiv): ) (i) (d)-G)
3. (ari) () (-G) (d)-Gii)
4 (aH(vk ()HiiD); (i) (dHD

Options:

64535042827, 1
64535042828, 2
64535042829 2
48350428320 4

Question Number : 83 Question Id : 64635010882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Teit=1 @ gel-11 & giftw Fifem -
eI I
(arfe) (e /fan)

(2) "Rm@FEmwEs () WEen IR slyed 951 g g
() gou T Fram e (i) SETSI N gE S
(c) wigen i B (i) FEHfsiEss- 100

(d) gEa® s (iv) e e e Refha g g
) g FieH SR
f&u 7o fawew 8 9 ST 90 S

1 (ai); (bHiv); (i) (dH(v)
2. (v (=) (i), (di-Gi
3.0 (aGi) (b)=(v); ()0 (d)~(ii)

4. (ar(v); (e)id); ()Gi); (d)y-G)

Options:
E4E35042527. 1

EAE35042828. 2
E4E35042829. 3
64535042820, 4

Question Number : 84 Question Id : 64635010883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Statement 1 (5;): Secondarv explosives are reasonably insensitive to initiation.
Statement 2 (S:) :  Secondarv explosives require stronger energy to get detonated.

In the context of two statements, which one of the following is comrect?

1. Both5;and S; are comect

B

Siis comrect and Sz is not comect
3. Spis notcomect and 8: is comrect
4. Both 5) and 33 are not correct

Options:

64535042821, 1

64535042832 2

435042823 2

64535042854, 4

Question Number : 84 Question Id : 64635010883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FUA 1 (Sy): T faewies wiRfiE Fo & i auifed el 8 &)

HUF 2 (S2): T A1 & WRBIEA o [0 HaTHa Hils Weied Sl difke g 21

Fa A FddAPTfe ddsnwm el &
1. S s, gATEE
2. S EEE RS, TEE
3. S TR RS WEIR
4 SRS IEITERE



Options:

64535042531, 1
4835042832 2
4535042832 2
64535042824, 4

Question Number : 85 Question Id : 64635010884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For extraction from fire debns bv dynamic adsorption
(a) Tubes having charcoal are inserted into top of an airtight container.
(b} Itis a destructive method
() Itisalso known as adsorption-elution.
(d) Container is cooled for accumulation of more aceelerant into headspace.

In comtext of the above, choose the correct combination :

L (a), (b)and (c)

2. (c)and(d)
i (b)and(d)
4. (a)and(c)

Options:

648350425835, 1
E4E35042836. 2
64535042837, o
4535042828, 4

Question Number : 85 Question Id : 64635010884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS HARW 3 GRT e & Prepdm & wieand

(2) TSI oa AYEE TH & Ty H i w®itd fSy wrd 71

) ge Redarers R 2

(€ 59 sy ofeR & g & +ff o o 2

(d) TR ™A A AT o T Iwen & Aitm s F weifa rm e 8
TrF ¥ deH F Wi gm g

L (@, )R

2 (@M@

3. () dR(d)

4. (a) R (o)
Options:

64535042835, 1
645350428356, 2



EAE35042837. 3
64535042828, 4

Question Number : 86 Question Id : 64635010885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Domestic kerosene is blue in colour due o

1. Anthracene

4
s

Coomassie Blue
3. il Blue 35
4 Eosine
Options:
C4E2E0425859 1
cde2E042540. 2

E4E35042841. 3
EAE35042842. 4

Question Number : 86 Question Id : 64635010885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e It &1 PafafEe 7 @ fees sro o e &7

1. Sl

2 g

3. ofioE =35

4. =
Options:

E4E35042839. 1
E4E35042840. 2
64535042841, 3
64535042842, 4

Question Number : 87 Question Id : 64635010886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ANFO stands for

1.  Ammonium Nitrite Fuel Oil

2. Ammonium Nitrate Fuel Oil

3. Ammonjum Nitride fuel Qil
4, Ammonium Nitroglveerine Fuel Oil

Options:

64535042843, 1
64535042844 2
64535042845 =
4835042846 4



Question Number : 87 Question Id : 64635010886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ANFO ufauif =7 faege = @

1. 2eifas areese wgm Hiow
2 HIATE AT CE W M
3. EIOEATECE S WO A

4. HHEIETH AT W s
Options:
64535042843 1
G4AE35042844 2
64535042845, 3
G4AG35042846. 4

Question Number : 88 Question Id : 64635010887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The comrect sequence of events of fire process in order of occumence is

1. free buming, incipient, smouldering

ot

smouldering, free bumning, incipient
3. free buming, smouldering, incipient
4.  Incipient, free buming, smouldenng

Options:

C4dc325042847. 1

Cdo3E042848. 2

64535042849, 3
E4E35042850. 4

Question Number : 88 Question Id : 64635010887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e 9 TET F Wl 1 9 HEn g

1. Had g5, Ui 5o &1 Wi, genmE
2. GO, R aE, WHE S
3. He <GB, eI, AR Se 1 W
4. Wi Fo & WA, 9 g, O

Options:

4535042847, 1
64535042848, 2
64535042849 2
E4E35042850. 4

Question Number : 89 Question Id : 64635010888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The fundamental chemical reaction for fire initiation is
1. hvdroxvlation
2. oxidation
3. combustion
4. ignition
Options:
E4E2E0425851 1
C4E3E042852. 2
C4E3E0428E53. 2
LdE2E042554 . 4

Question Number : 89 Question Id : 64635010888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
3T O S Wi F Ay F HErg Teiae wiotem 8

1. ErggifedcsE

2. ffeiiem

3. gt

4 W=
Options:

E4E35042851. 1
E4E35042852. 2
E4535042853. 3
64535042854, 4

Question Number : 90 Question Id : 64635010889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The major component of ‘Molotov® cocktail is

1.  gascline
2. ethyl alcohol
3. lead azide
4. wvaline
Options:
45325042855 1
64535042856, 2
64535042857, =
64535042858, 4

Question Number : 90 Question Id : 64635010889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



ArieE Sleen & 5= 9928 §

1. farf=

P -1 1 o

3. dToess

1. =
Options:

E4535042855. 1
E4535042856. 2
64535042857, 3
64535042858, 4

Question Number : 91 Question Id : 64635010890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Emulsion is a coating on all photographie films and papers consisting of light-sensitive
silver salt in a

1. salt mineral medium
2. gelatine medium

3. mineral fat medium
4. glass mineral medium

Options:

645350425859, 1
4835042860, 2
4535042861, 2
4535042862, 4

Question Number : 91 Question Id : 64635010890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 4 BTt et oir o W s & o verm-wadl Tora taw Pmfafaa 23

froAam AT 27
1.  vEwaEw A
2. fodls mam

3. Eie T e

4. wwaEHwmEEg
Options:
64535042859, 1
E4E35042860. 2
4535042861, 2
4535042862, 4

Question Number : 92 Question Id : 64635010891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Primarv high explosive used in percussion cap of cartndge is

1.  lead azide

2. PETN

3. TNT

4. RDX
Options:

E4E35042863. 1
EAE35042864. 2
E4535042865. 3
64535042866, 4

Question Number : 92 Question Id : 64635010891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRGH F FAmE endt & v mufes o= faeries &

1. @SUEES

2. ®idwm

3. WA

4. R BTE
Options:

64535042863, 1
E4E35042864. 2
EAE35042865. 3
EAE35042866. 4

Question Number : 93 Question Id : 64635010892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Infrared spectra of paint sample without anv preprocessing of sample can be obtained
by technique of

1. diamond anvil cell sampling FTIR
2. cross force sampling FTIE

3.  flame force sampling FTIR

4.  cross flame force sampling FTIR

Options:

64535042867, 1
64535042868, 2
4835042869 2
E4E35042870. 4

Question Number : 93 Question Id : 64635010892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
435042567, 1
64535042868, 2

E4E35042869. 3
BAE35042870. 4

Question Number : 94 Question Id : 64635010893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identification of nature of adulterants in cement sample can be carried out easilv by
1.  gas chromatography
2. X-ray diffractometer
3.  emission spectrography
4.  gel electrophoresis

Options:

645350425871, 1
64535042872, 2
64535042873 2
4835042874, 4

Question Number : 94 Question Id : 64635010893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e wiael 4 srftiye &1 vela &1 uga Frafafaa A 3 feas am e § 21 o w5l

27
1. 7 ot
2. e fadaard
3. Iee faEeE
4 GO
Options:

64535042871, 1
64535042872, 2
64535042873, 3
EAE35042874. 4

Question Number : 95 Question Id : 64635010894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aluminium, calcium, magnesium and cobalt are components of
1. red colour safety glass
2. blue colour safery glass
3. wellow colour safetv glass
4. green colour safety glass

Options:

64835042875, 1
E4E3E5042876. 2
4535042877, o
4535042878, 4

Question Number : 95 Question Id : 64635010894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
uwifhfon, SiRTaH, fdiftrs ok Srare Faffae 3 @ s 9o 22
1. umE S WS
2. ARTE e Fhe
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Options:

64835042875, 1
E4E3E5042876. 2
4535042877, o
4535042878, 4

Question Number : 96 Question Id : 64635010895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Radial fracture of glass can be helpful in determining

1.  thickness of glass
2. seguence of bullet holes in glass

quality of glass

Lad

4. colour of glass
Options:
4535042579, 1
E4E25042880. 2
E4E25042881. =
64535042852 4

Question Number : 96 Question Id : 64635010895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35042879. 1
E4E35042880. 2
64535042881, 3
64535042882, 4

Question Number : 97 Question Id : 64635010896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Statement 1 (S;): Cement is made by mixing together calcareous and argillaceous
material at high temperature.

Statement 2 (32): Property of cement depends on various phase composition of
clinker and on the structure of individual crvstal phase.

In the context of two statements, which one of the following is comect?
1. BothS;and 5; are correct
2. Both S and $3 are not correct
3. 5pis comrect but 5215 not correct

4. 51 15 not correct but 52 1s correct

Options:

64535042883, 1
4835042884, 2
4535042885 =2
645350428586, 4

Question Number : 97 Question Id : 64635010896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. § ToadfEgs, whE

Options:
E4E35042553. 1



EAE35042884. 2
64535042885, 3
64535042886, 4

Question Number : 98 Question Id : 64635010897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Most of the chat and instant message conversations are stored in computer in

1. Hard disk
2. RAM
3. Wintex

4. Slack space
Options:
64535042857, 1
64535042888, 2
645350428849, 3
64535042830, 4

Question Number : 98 Question Id : 64635010897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Huet | sfisi Frasia (de) HN aerTa deued aarard Huaad 5 9 fead ged e

W 27
1. wEfEw
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Options:

64535042857, 1
64535042888, 2
64535042889, 3
E4E35042830. 4

Question Number : 99 Question Id : 64635010898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During gravimetric method of analvsis of cement filtrate-I} is used for calculation of
1. calcium oxide
2. iron oxide
3. silica oxide
4.  potassium permanganate

Options:

64535042591, 1
64535042892, 2
4835042892 2



EAE35042894. 4

Question Number : 99 Question Id : 64635010898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
mﬁﬁmﬁwﬁﬁmﬁhmﬁmmﬁﬁ#%ﬁﬁ?ﬂ

1 i feman i 27
1. wftygm siiEaEs
1. A RS
3, fafee sifemgs
4, GrefRmm WHTT
Options:

E4E35042891. 1
EAE35042892. 2
645350428383, 3
645350428394, 4

Question Number : 100 Question 1d : 64635010899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

%oil sample when moistened with few drops of water and concentrated hvdrochloric
acid gives vellow colour due to presence of

1. lime
. iron
3. @nc

4. aluminium
Options:
64535042595, 1
E4E35042896. 2
4535042897, 2
64535042898, 4

Question Number : 100 Question Id : 64635010899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 v oW F g 481 8 o T WiRh pRglenie oW § STen e 8 &
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1.
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3. Wl
4. ueghtEm
Options:

645350428395, 1
64535042836, 2
EAE35042897. 3
E4E350428398. 4



Question Number : 101 Question Id : 64635010900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Bromoform, a high densitv, liquid used in density gradient analysis of soil can be
replaced with

1.  methyl alechal

2. kerosene

3.  methylene iodide
4. xvlene
Options:

E4535042899. 1
645350423900, 2
64535042301, 3
E453504230Z. 4

Question Number : 101 Question Id : 64635010900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
I U AT 54 ST, S 5 F ue anfiee fasdan & s o &, w1 Pfifae A9

ferwd wierenfia fm & & 87
1. T sewten
2. T
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Options:

64535042899, 1
64535042300, 2
E4E35042901. 3
E4E35042902. 4

Question Number : 102 Question Id : 64635010901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The refractive indices of most of the glass samples encountered during forensic
examination range between

1. 1-40-1-30
2 1-61-1-63
3. 1:531-1-33
4. 135139

Options:
4535042503, 1

E4E35042904. 2
E4535042905. 3
64535042306, 4

Question Number : 102 Question 1d : 64635010901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 1:40-1-50

2 1-61-1-6

Lk

3, 1-51-1-5

L

4, 1:55-1-39
Options:
4535042003, 1
64535042904, 2
64535042305, =
64535042306, 4

Question Number : 103 Question 1d : 64635010902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wicat apparatus is generally used for analvsis of cement to observe
1.  compressive strength
2. elemental composition
3. standard consistency

4, texture

Options:
E4E35042907. 1

E4E35042908. 2
E4E35042908. 3
64535042910, 4

Question Number : 103 Question 1d : 64635010902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hiie & e & forg smraaa e Suen =1 waim e & & e wiem &
o e 27

1. wdiss wfEa
2. fes A
3. AFe

4.  FIEe

Options:

64535042907, 1
64535042908, 2
4835042909 2
4535042910 4

Question Number : 104 Question Id : 64635010903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is a phvsical method for developing latent finger marks?
1. Ninhvdrin method
2. Silver nitrate method
3. Powdermethod
4. Diazaflucrenone method

Options:

645350424911, 1
64535042912, 2
64535042912
64535042914, 4

Question Number : 104 Question Id : 64635010903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
w7 At S ouRn & B FeffRe fd en-d i Rfa &

1. Fifea fafa
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Options:

64535042911, 1
64535042912, 2
E4E35042913. 3
E4E35042914. 4

Question Number : 105 Question Id : 64635010904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The full form of NFF which is related to AFIS is

1.  Numerical Fingerprint file
2. National Fingerprint Facility
3.  National Fingerprint Federation

4. National Fingerprint File
Options:
64535042915, 1
64535042916, 2
E4525042917. 3
E4535042915 4

Question Number : 105 Question Id : 64635010904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535042915, 1
E4E35042916. 2
64535042917, 5
64535042918, 4

Question Number : 106 Question Id : 64635010905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are related to gait pattem?
(a) Stridelength
(b} Walldng line
() Steplength
(d) Impactlength

Select the comrect option :

L (@), () (d)
2. (@), ) (c)
3. (), (0. (d)

4. (@), () (d)
Options:
64535042919, 1
64535042920, 2
645350429321, 2
E4E35042922. 4

Question Number : 106 Question Id : 64635010905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535042919, 1
E4E35042920. 2
4535042921, 2
4535042922, 4

Question Number : 107 Question Id : 64635010906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT related to the process of computer scanning and
digitization of fingerprint?

1. Indexing
iy Restriction
3. Feature extraction

4.  Segmentation
Options:
64535042923 1
64635042924 2
64535042925 5
EAB25042928. 4

Question Number : 107 Question Id : 64635010906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. e e
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Options:
4035042923 1
4635042924 2

64535042925, 3



EAE35042926. 4

Question Number : 108 Question Id : 64635010907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In human speech production, the source of sound energy is at which of the following?
1. Nasal cavity

2. Vocal cord

-
b |

P'ha.t}m 4

4. Larmx
Options:
64535042927 1
646350429258 2
E4B35042929. 2
E4E25042950. 4

Question Number : 108 Question Id : 64635010907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR i e s s e &7
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Options:

64535042927, 1
64535042928, 2
64535042929, 3
E4E35042920. 4

Question Number : 109 Question Id : 64635010908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A tyre track impression in the snow can be classified as

1. three-dimensional mark

2. indentation mark

3. apositive impression mark
4. Bothland2

Options:

64835042931, 1
4535042932 2
64535042922 5
64535042924, 4

Question Number : 109 Question Id : 64635010908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350429351, 1
E4E35042932. 2
E4E35042933. 3
64535042924, 4

Question Number : 110 Question Id : 64635010909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The outer terminus in a pattern formed by either bifurcation of a ridge or by the
widening of the two ridges running almost parallel up to that point is called

1.  bifurcation

2.  dela

3. divergence

4, core
Options:
64535042955, 1
E4E25042938. 2

E4E35042937. 3
64535042928, 4

Question Number : 110 Question Id : 64635010909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4535042935. 1
64535042936, 2
64535042937, 3
64535042938, 4

Question Number : 111 Question Id : 64635010910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Latent fingermarks present on the victim's skin can be developed by which of the
following methods?

1.  Fluorescent powder method
2. Euthenium tetroxnide method
3. 5PE (small particle reagent) methed
4. Cvyvanocacrvlate fuming method
Options:
645350429359 1
64835042940 2

64535042941, 3
E4E35042942, 4

Question Number : 111 Question Id : 64635010910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafes fea fafy gm difee oofdn &t @9 = dnE v S s ovm S ssa &7
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Options:
£4E8350424939 1
E4de35042940. 2

E4E35042941. 3
EAE35042942. 4

Question Number : 112 Question Id : 64635010911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The firearms made by blacksmiths by not adhering to anv particular specifications or
standard material are known as

1. shotguns
2. carhines
3, Zp guns

4. assault rifles
Options:
E45250429435 1
E4535042944 2
64535042945 =
64835042946 4

Question Number : 112 Question 1d : 64635010911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



el g =l faftre fftpanedt @1 argarem fru fmn o A wmeelt &1 Sugm e famm

T TG AT FE
1. wiem™
2. FEE
3. fomm

4. SfFice WEHT
Options:
64535042943, 1
64535042944 2
64835042945 =2
4535042946, 4

Question Number : 113 Question Id : 64635010912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In gun-shot wounds, the scorching is caused by

1.  the deposition of smoke from close range by all tvpes of propellants

2. the deposition of elements from bullet, primer composition and cartridge
case

3.  the flame or by hot gases from close range

4. the embedding of unbumt or partially bumt propellant grains from close
range

Options:

64835042947, 1
4535042948 2
64535042949, 5
64535042950 4

Question Number : 113 Question Id : 64635010912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535042947, 1
64535042948, 2
64535042949 =
4835042950 4

Question Number : 114 Question 1d : 64635010913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is used to analvze for the presence of gun-shot residue?
1.  Mierospectrophotometry

2. Befractive index measurement

Lad

Palarized Lig,]:l.! mia’nsl:up}'

4.  Scanning electron microscopy coupled with energy dispersive Xaav
analyser

Options:

4635042951, 1
64535042952, 2
64535042953 =
645350429354 4

Question Number : 114 Question 1d : 64635010913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E46350424951. 1
E4E3E0424952 2
645350424953 2
£4635042954, 4

Question Number : 115 Question Id : 64635010914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The designation of 12-bore means that the intemal cross-sectional diameter of gun’s
barrel is equal to

1. 12 mm
2. the diameter of a spherical lead ball weighing 1/12 of the pound
3. the diameter of a spherical steel ball weighing 1/12 of 2 pound
4, 12 inch

Options:

E4E35042955 1

4535042956 2

45350425957, 2

64635042955 4

Question Number : 115 Question Id : 64635010914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635042955, 1
64535042956, 2
64535042957, =
645350429358, 4

Question Number : 116 Question Id : 64635010915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The phenomenon of shaving of bullet is associated with

1. firing of ammunition

2. extraction of the cartnidge case
3. chambering of the cartridge

4.  cocking of the firearm

Options:

64535042959, 1
E4E35042960. 2
4535042961, 2
4535042962, 4

Question Number : 116 Question Id : 64635010915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535042959, 1
E4E35042960. 2
4535042961, 2
64535042962, 4

[

b

Question Number : 117 Question Id : 64635010916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The “ballistic coefficient’ is
1. index of the ability of a projectile to overcome air resistance
2. the efficiency of the shape of a projectile to overcome air resistance
3.  thereduction of the bore diameter to improve spread of projectiles
4. twist required for spinning and stability of projectile in flight

Options:

64535042963, 1
64535042964, 2
645350429365 2
E4E35042966. 4

Question Number : 117 Question Id : 64635010916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘méfE e’ 2
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Options:

64535042963, 1
4835042964 2
4535042965 2
64535042966, 4

Question Number : 118 Question Id : 64635010917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is characteristic of im-fire cartridge?

1. Pim in the form of a flange 15 present at the base
2. The pnmer composition is located in the nm

The priming mixture is present in the percussion cap situated in the centre
of the cantridge head

Lk

4.  Extractor groove along with a rim flange is present at the cartridge head
Options:
4535042967, 1
E4E35042965. 2
E4E35042969. 3
64535042970, 4

Question Number : 118 Question Id : 64635010917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64635042967, 1
64635042968, 2
64635042969, 3
64635042970, 4

Question Number : 119 Question Id : 64635010918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The net retardation of a projectile due to air resistance 1s given by

1. AP

2. g

b | =

3. t=xF cos E

e =1

where 4, # are constants that vary for different velocity zones, I7is the velocity of the
projectile, g is the aceeleration dueto gravity, ris the time taken by projectile, £ is the
angle of elevation and » is the ogival radius in calibers.

Options:

64535042971, 1
E4E35042972. 2
64535042972, 5
4535042974, 4

Question Number : 119 Question Id : 64635010918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g Ry & wrn fedt nigore = e i PetfRe d s T R e &7

1. wArt

]SF:
2

3. txFcosE

Afdr—1

7
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Options:

64535042971, 1
E4E35042972. 2
45350429732 2
64535042974, 4

Question Number : 120 Question Id : 64635010919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The comect sequence of process of chemical restoration of erased seral number on steel
surface is

(a) photography

(b} gn'nding

(¢} polishing

(d) application of restoration reagent

Select the correct option :

1L (@), &) () (d), (@)

!‘\-v'

{b), (c), (d). (b), (&)

(d). (c), (a), (®). (2)

Laa
v

4 (g (b), (c). (b). (d)

Options:

64535042975, 1
E4E35042976. 2
E4E35042977. 2
64535042978, 4

Question Number : 120 Question Id : 64635010919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T F1 T9E W e gU FAiE 9t TaEtE Ee @1 AT 3 96 HgeE e

(a) SIS

(®) wEW

() ufeAmaE

(d) grEET sfiEdE &1 srgwE
wél R g

L @) (. d). @)

L (b), (c), (d), (b), (b)

3.0 () () @) () (@

4. (e (). (). (b). (d)

Options:
64535042975, 1



EAE35042976. 2
BAE35042977. 3
64535042978, 4

Question Number : 121 Question 1d : 64635010920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Lifting of tool marks can be performed by the following :

{a) Plaster of Paris

(k) Dental casting material

{c) Sulphur

(d)y PLGA
Choose the correct combination
Code .

1 (a) and (b)

2. (a), (b)and (d)

3. (@) and(d)

4. (@)andic)

Options:

64535042979, 1
64535042980, 2
64535042981, =
E4E35042982. 4

Question Number : 121 Question Id : 64635010920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fofifae & mam § sier & P gen a9 §

(a) MR IHiE ofew

(b) T T S

(c) BT

(d Wumeio
He! T F 999 B -

L (a) 3R ()

o ]

(), (b) ¥R (d)
(a) 3R (d)

Lk

(@) 3R (c)

i

Options:

64535042979, 1
64535042980, 2
6453504293381, 2
E4E35042982. 4



Question Number : 122 Question Id : 64635010921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Statement 1 (8): Walker's test gives pink colour on the swabs collected from the
area suspected to have firearm discharge residue

Statement 2 (S2): The pink colour is due to the presence of nitrite in the firearm
discharge residue.

In the context of two statements, which cne of the following is comrect?
1. 5;is comrect but 5:is wrong
2. Both5; and 5; are correct
3. 5pis wrong but §; is correct
4. BothS)and S; are wrong
Options:
646350429583 1
64535042954, 2
E4B25042985. 3
EAE25042986. 4

Question Number : 122 Question Id : 64635010921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 1(S)) :  Afee Titem & g e R amare e safiy el w1 e e 2 o
W Hudld WIgl O et W1 30 W el

FY 2 (S;) :  TEMET T s FeEr srafip | Ao #1 suulE F s 21

F g FE F e A PmffEm A sma v &7
1. s wigfrgs,mmae

Sy R S, IHTTE &
3. symmEfegs, e
4. SRS, FRITEE

Options:

654635042983, 1

54635042984, 2

54635042985, 3

64635042986, 4

b

Question Number : 123 Question Id : 64635010922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In gas chromatography technique, which of the following gases is NOT suitable?

1. Helium
2. Nitrogen
3. Oxvgen

4. Argon
Options:
64535042987, 1
64535042988, 2
4835042989 2
4535042990, 4



Question Number : 123 Question Id : 64635010922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T FuiereA ae-ie | Ffead § 4 $H-5 9 Iugs T8 &7

1. d@ftmw

2. g

3. it

4. aFE
Options:

64535042957, 1
E4E35042988. 2
EAE35042989. 3
E4E35042930. 4

Question Number : 124 Question Id : 64635010923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Photomultiplier tube is WOT suitable for detection of

1.  wisible photons
2. UV photons
3. fluorescence

4. IR photons
Options:
4535042991, 1
E4E25042992 2
E4E25042993 5
645350429594 4

Question Number : 124 Question Id : 64635010923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FRmTETR = fFafifEe s sfime $39 & fn gugs ad 82

1. TEAASREE
2. WETHIEER

3. W

4. HE M ERER
Options:
64535042991, 1
4835042992 2
E4E35042992 =2
64535042994, 4

Question Number : 125 Question Id : 64635010924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The presence of two common isotopes of bromine, i.e., "*Br and *'Br can simply be
detected in mass spectra when the peak intensities of their M and M+2 are in the ratio

of
1 1:3
2 1:1
L I e |
4. 1-:32
Options:

E4E35042995. 1
E4E35042996. 2
64535042957, 3
64535042935, 4

Question Number : 125 Question 1d : 64635010924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FAEA F & ARt sufd "By, $1Br #1 WA Wael § WA Ugd 99 Rufa @t @
TEd! & WE 396 M 3 M+2 #t wed #fie weom Feffee d S e s A a7

1. 1:3

2. 1:1

3. 3:1
4. i
Options:

64535042955, 1
64535042936, 2
64535042937, 3
E4E35042955. 4

Question Number : 126 Question Id : 64635010925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Half-life of archaeological objects can be determined by

1. ICP-MS

2. XFRF

3. NAA

4. ICP-AES
Options:

E4E35042995. 1
645350423000, 2
64535043001, 3
E453504300Z. 4

Question Number : 126 Question Id : 64635010925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT Tgsi ®1 S -wiaeT Haay § 3 e s g 82
1. et d-ua E

2. U MW U

3. mTuug
4 e dd-uiom
Options:

645350429595, 1
64535043000, 2
64535043001, 3
E4E3504300Z. 4

Question Number : 127 Question Id : 64635010926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tvpical LOD (nginjection) value for refractive index detector in HPLC is

1. 100

2 1

2. sl

4 00
Options:

64535043003, 1
E4E35043004, 2
E4E35043005. 3
E4E35043006. 4

Question Number : 127 Question Id : 64635010926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
9. 4. v, 9. # suws gawie ANEe =1 Hftmey® T, o §. @t dewe) |

1. 100

21

3. 0l

4. 001
Options:

E4535043003. 1
645350423004, 2
64535043005, 3
645350432008, 4

Question Number : 128 Question Id : 64635010927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List=I with List=II -

List=I List=II
{a) Writing weakness marked by irregular (i)  Pen emphasis
shaky strokes
(b) The element of writing movement {iiy  Shading

(c) The act of intermittently forcing the pen (i) Tremor
against the paper

(d) A widening of pen stroke dueto added {iv) Rhythm
pressure on a flexible pen nib

Choose the comrect option from those given below :
1 (@G )G (-Gv): (d)rGi)
20 (i) (b0 (eGi); (div)
(a)(iv); (b)G); () (d)(iii)
4. (@HHGi); vy (e (d)HE)

(F¥)
v

Options:

64535043007, 1
64535043008, 2
64835042009 2
4535042010, 4

Question Number : 128 Question Id : 64635010927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e t-1 21 -1 & gafem Sy
-1 -1

(a) SRR sifrafta R am (i) B gEE (U FEHIEE)
fafed fha=-gdom

(b) T SaTE-ad (i) SRS EE)

() FOHAFFORES-FFH (i) FHEH
HEE FH Hidt F

(d) FFTHERAaEE v e
& HTU T $1 BT F

Frg 0 s & & el IR 99 Fife
L (@) ®)id); (e)-Gv); (d-GD)
2 (i) (o (e)d; (d-iv)
3.0 (v ) () (d)GiD)
4 (@) @)rGv); (e-0); (d-Gi)

Options:

64535043007, 1
64535043008, 2
E4E35042009. 2
64535042010, 4

Question Number : 129 Question Id : 64635010928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The age of the ink can be determined by analvaing the samples by
(a) GC-MS
) IR spectroscopy
(c) X-ray fluorescence
(d) Raman spectroscopy
Choose the correct answer from the code given below :
L (@) (e )
2. (@), (&)
3. (2 M)
1. (a) (b) (=)

Options:

645350432011, 1
4535042012, 2
64535042012 5
64535043014, 4

Question Number : 129 Question Id : 64635010928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

we % amg-Frufvn ¥ fvg wfireel & Rredar Prafefere 39 R faftrdt gra Rreifa feman
Tl &7

@ wdé.-m
b)) oE MR S
(c) TU=FE-T RIS

(d) TH EERER
e Rymge 4 @ ol s gfn:
L (@) (e) (d)
2 ) (. (d)
3. (@) ®h@)
i (2. @)

Options:

64535043011, 1
64835042012 2
45350420132 2
64535042014, 4

Question Number : 130 Question Id : 64635010929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TAPPI stands for
1. Technical Association of Power Point Imaging
2. Technical Association of Pulp and Paper Industry
3. The Association of Police Protection Ine

4.  The Association of Pulp and Paper Industry
Options:
E4525042015. 1
E4E25043016. 2
64535043017 =
64635043015 4

Question Number : 130 Question 1d : 64635010929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1. . 9. i, 3%, &1 70 A 22
1. oo EiRteme i diet dige sAfiT
2. e TEIfeUEE e Ueg IS 0w gewt
3. TR i g s §
4. T uHiftuwE oie e Us 9w 550

Options:
4535042015, 1

E4E35043016. 2
E4E35043017. 3
645350430158, 4

Question Number : 131 Question Id : 64635010930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The traditional printing method of relief printing is also kmown as

1. intaglio printing

2. letter press printing

Lad

lithographic printing
4. gravure printing

Options:

645350430159 1

64835043020 2

64535042021, 2

E4B25042022. 4

Question Number : 131 Question Id : 64635010930 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEHa TR0 Bt gt e Al F e omn wu A o I e &2
1. Sepi e g fifem
2. HETES HEW (G v fiEm
3. HmuiRen gew e )
4. e g g fifEm
Options:
E4E35043013. 1
E4E35043020. 2

64535043021, 3
64535043022, 4

Question Number : 132 Question 1d : 64635010931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The writing in which the person has made a deliberate attempt to remove or modify all
or some of the writing habits is known as

1.  disguised writing

2. forged writing

3. contemporary writing
4.  puided hand signature

Options:

4535043023, 1
64535042024, 2
64535043025 =
64535043026, 4

Question Number : 132 Question 1d : 64635010931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g7 T, ToreH wafe = @i 715 TEH HEdl B g 1 SElYE S $1 OH-gF S W

form &, &1 fovm v & e wa 82
1. ouEdaad
2. Foifdaoad
3. RS e

4. Fefm s emer
Options:
64535043023, 1
64535043024, 2
E4E35042025. 2
4535042026, 4

Question Number : 133 Question Id : 64635010932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following instruments is used to decipher indented writings?
1. Projectina
2. Video spectral comparator
3. Electrostatic detection apparatus

4,  Docubox
Options:
64535043027, 1
64535043028, 2
64535043029 =
648350420320 4

Question Number : 133 Question 1d : 64635010932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T e @ uga & R Preifea # 3 fere suewo & s v o &2
1. wreifEe
2. difE0 Eea s
3. SORrReleE [BoadH U
4. TlagsEied
Options:
64635043027, 1
64635043028, 2

64535043025, 3
64535043030, 4

Question Number : 134 Question 1d : 64635010933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the handwriting comparison “t’ crossing, i and j dots are considered as
1.  embellishments
2. diacritics
3.  abbreviation
4. miniscules
Options:
45250420231, 1
64635042032 2
64635042033 2
4635042024 4

Question Number : 134 Question 1d : 64635010933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



B 1 geATeE HwgE B0 A v B, R ST i Pfrfaa A3 fewelt dm

el &2
1. e
2. smfsfes
3. wifgeR
4. gt
Options:

64535043021, 1
E4E35043032. 2
EAE35043033. 3
E4E35043024. 4

Question Number : 135 Question Id : 64635010934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In trap cases, the pink colour of phenolphthalein fades due to the formulation of

1. complex with Na;CO;
2. 2{4-hydroxvbenzovie) benzoic acid and phenol
3.  trchlorophenclphthalein
4.  Phenolic anhydride
Options:
CAE3E045035. 1
CAEZE04=036. 2

64535043037, 3
64535043028, 4

Question Number : 135 Question Id : 64635010934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

He H Har ot ot ® fFreuEdi= w1 et T PaiifEe | | feae a1 s enw e
T W 87

1. NayCO; & Hiu =iy

2. 2(a-mEeiEiEEEe dune o o i
3. ErgedRifEER

4. frefos vegess

Options:

64535042035 1
64535042036, 2
64535043037, =
64535043035, 4

Question Number : 136 Question 1d : 64635010935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The antidote for methanol poisoning is
1.  ethylene glvcol
2. milk of magnesia
3.  amphetamine

4.  ethyl alcohol
Options:
E4E8250420259. 1
E4525043040 2
E4535043041. =
64535043042 4

Question Number : 136 Question Id : 64635010935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferl=te R & R w2
1. giiefi= mmsere
2. firew sife Adfifam
3. UEplEEEA

4. SUEH ATEIEE
Options:
64535043029, 1
645350432040, 2
64535042041 =
64535043042, 4

Question Number : 137 Question Id : 64635010936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The average rate of alcohol elimination in breath per hour is

1. 65 ugd
2. 15 pg/d
3. 20 pg/dl
4. 25 ug/d
Options:

64535042043, 1
64535043044, 2
E4E35042045, 3
E4E3504304E. 4

Question Number : 137 Question Id : 64635010936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



wta # vl 72 sewige P &1 g g g

1. 63 g/

2. 15 ug/d

3. 20 pmgyd

4 25 pugfdl
Options:

E4E35042043. 1
E4E35043044. 2
645350423045, 3
64535043046, 4

Question Number : 138 Question 1d : 64635010937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The most appropriate method for the extraction of plant poisons from viscera is

1.  solvent extraction
2. solid-liquid extraction
3. Stas-Otto method
4. distillation
Options:
E4525042047 1
E4535043045. 2

64535043045, 3
64535043050, 4

Question Number : 138 Question Id : 64635010937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o & mien-fa e & fi weifas gogem fafa &

1. faoms ad

2. BE-AHE

3. wH-defafy

4. HEEA
Options:

E4E35043047. 1
645350430458, 2
64535043049, 3
64535042050, 4

Question Number : 139 Question Id : 64635010938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Proof” in alcoholic drinks is

1.  equal tothe percentage of alcohol contents
2 12/13 parts of alcchol percentage
3.  twice the percentage of alcohol contents
4, 225 of alecholic percentage

Options:

4532504205101

C4E3504=052. 2

E4E35043053. 3
E4E35043054. 4

Question Number : 139 Question Id : 64635010938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SepIengE 90 H TF
I [0 e GG G s o
3. HehEa S UHEE 1 12/139 UM AR
3. 3FchIEH ) NN 1 SN g &

4,  yFEaF vAwEET s iava e e
Options:
6465350420511
64635042052 2
64535042053 3
E4E35042054 4

Question Number : 140 Question Id : 64635010939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an ionization source for GC-MS7?
1.  Ammospheric Pressure Photo lonization (APPI)
2. Atmospheric Pressure Chemical Ionization (APCI)
3. Eleewron Impact Ionization (EI)
4.  Electron Spray Ionization (ESI)

Options:

64535043055, 1
64535043056, 2
64535043057, =
64835042058, 4

Question Number : 140 Question Id : 64635010939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fraftfan 3 & sn-m of. §.-u9. @ & g smfiewo d@m &2
1. UeHiThE TN Bl e @ O 3 amg)
2. UoAERTE TR SiEen W EEeEE (O 9 )

3. FOecH THEE SR (3. 313)
4. IO WOETEEEE 3. TE H1E)
Options:

E4E35043055. 1
E4E35043056. 2
E4E35043057. 3
64535043058, 4

Question Number : 141 Question 1d : 64635010940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the comect order in which various components of X-ray diffractometer are
placed :

1. Xoay generating equipment, Collimators, Analysing erystal, Filters,
Detector

2.  X-ay generating equipment, Collimators, Filters, Analvsing crvstal,
Detector

3. X-oray generating equipment, Filters, Analysing crystal, Collimators,
Detector

4, Xoray generating equipment, Analyvzing crvstal, Filters, Collimators,
Detector

Options:

64535043059, 1
64535043060, 2
4835042061, 2
4535042082, 4

Question Number : 141 Question Id : 64635010940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et wH P urE it el ven. Rethadndier & Rfim duce! @) @ war 2

1. UEE-iowes gy, St wtves @ fEe), s ey, dgue
1. - e owey, shiaha, e (e, it @ e, e
3. - IdEs Iue, e (e, retes @ (e, auiafa o=
4.  TH-IICES T, Rt (e, s My, wriels S

Options:

64535043059, 1
64535043060, 2
64535043061, =
E4E350420682. 4

Question Number : 142 Question Id : 64635010941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Disulfiram is used for treatment of chronic alcohol abuse acts by
(a) increasing the concentration of acetaldehvde
(b) blocking aldehvde dehydrogenase
{c) increasing the concentration of acetic acid
(d) Wblocking acetate dehyvdrogenase

In the above context, choose the correct answer :

1. (c)and(d)

2. (a) and(d)

3. (@and(®)

4. (b)and(c)
Options:

64535043063, 1
64535043064, 2
E4E35043065. 3
EAE35043066. 4

Question Number : 142 Question Id : 64635010941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. (¥R

4. () IR (c)
Options:

64535043063, 1
64535043064, 2
E4E35043065. 3
EAE35043066. 4

Question Number : 143 Question Id : 64635010942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Effusion separator which is used in GC-MS5 iz basically
1. enrichment device
2. detector
3. ion source

4. column
Options:
64535043067, 1
64535043068, 2
4835042069 2
E4E35042070, 4

Question Number : 143 Question Id : 64635010942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
1. #.-u9. vR. § URgH i g FuE 8

1. dade gafrade) ausm

2. WgEs

3. AN

4. = @)
Options:

64535043087, 1
64535043068, 2
64535043069, 3
E4E35043070. 4

Question Number : 144 Question Id : 64635010943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Those materials which show birefringence phenomenon are known as
1. isotropic
2. isobaric
3. amsotropic
4, 1sotonmic

Options:

64535043071, 1
64535043072, 2
64535043073 2
E4E35042074. 4

Question Number : 144 Question Id : 64635010943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1.  wHaRE
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Options:

64535043071, 1
64535043072, 2
64535043073, 3
E4E35043074. 4

Question Number : 145 Question Id : 64635010944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Micellar extraction of forensic analvte is camed out in the presence of
1. surfactant
2. critical fluid
3. reverse phase

4, flovsil
Options:
E4E35042075. 1
64535042076, 2
64535042077, 5
64535043075, 4

Question Number : 145 Question 1d : 64635010944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
marrdt-Rae & st F1 aaw e Fafafae § | et ol § ewie

fean e 22
1. whae
2. wifdesa
3. v
4. i
Options:

E4E35043075. 1
64535043076, 2
64535043077, 3
645350430758, 4

Question Number : 146 Question Id : 64635010945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Microscopic examination of leaves of which of the following plants shows the presence
of evstelithie and glandular hair?

1. Digitalis pwpurea
2. Cannabis sativa
3. Papaver somniferum

4. Nicotiana tebacum
Options:
645350430759 1
64635043080 2
64535043081, 3
E4B25042052. 4

Question Number : 146 Question Id : 64635010945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafefea & @ fom oedt 2t ofvwdl § geredl olleo & freifalts SR dgm am =t

Fufufd sy 8 &7
1, IETordiere g
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3. I SEe
4. BFicam adwT
Options:

645350430759, 1
64535043080, 2
64535043081, 3
EAEZ5043082. 4

Question Number : 147 Question Id : 64635010946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The modem breath alcohol instrument is based on which of the following technologies?

1. MNE speciroscopv

[

Infrared spectroscopv
3.  Fluorescence spectroscopy
4. Emission spectroscopy
Options:
4535043083, 1
E4E250420854, 2

E4E35043085. 3
64535043086, 4

Question Number : 147 Question Id : 64635010946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



sy Sig srepiea aa Pafafae 8 2 e daie w amafm &7
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2. EE Wagrendt
3. wEioee Snerd
4. Iogo wagrel
Options:
64535043053 1
64535042084, 2

E4E35043085. 3
EAE35043086. 4

Question Number : 148 Question Id : 64635010947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which tvpe of neutron is most suitable for NAA technique?

1. Werylow energy neutron

2. Cold neutron
3 Thermal neutron

4.  High energv neutron
Options:
64535043087, 1
64535043088, 2
64835042089 2
64535042050, 4

Question Number : 148 Question Id : 64635010947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TH. . U, Gl o 100 5 UoR @1 Ao 9ad sifie Iuge &7
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Options:

E4E35043087. 1
64535043088, 2
64535043059, 3
64535043030, 4

Question Number : 149 Question Id : 64635010948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The solid adsorbents used in modified clean-up method are
1. alumina and zine silicate
2. alumina and silver nitrate
3. alumina and silica

4. alumina and sodium carbonate
Options:
64535043091, 1
64535043092, 2
64535043093 2
6435043054, 4

Question Number : 149 Question Id : 64635010948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835042091, 1
4535042092, 2
64535042092, 5
64535042094, 4

Question Number : 150 Question Id : 64635010949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the cause of ‘Hooch Tragedy'?

1. Formaline
2. Methanol
3. Acetaldehvde

4. Acetic acid
Options:
64535043055 1
64635043096, 2
64535043037, 3
4535042095, 4

Question Number : 150 Question Id : 64635010949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350430385, 1
64535043036, 2
E4E35043087. 3
E4E350430395. 4



